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Metoa n’'OHAaTa

92314*
58310
21830

14970
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Metoa n’'OHAaTa

92314*
58310* 29155
21830
14970
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92314%* 46157*
58310* 29155
21830
14970
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Metoa n’'OHAaTa

92314* 46157* 30771* 23079* 18463* 15386* 13188*
58310* 29155* 19437* 14578* 11662*

21830* 10915

14970* 7485
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85 ThIC.
190 ThIC.
310 ThIC.
105 THIC.

215 THIC.
65 THIC.
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(85+190+310+105+215+65+45):15=67,
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leToa Xaupa - Humeunepa

85 :67,6=1,26
190 : 67,6=2,81
310 :67,6=4,58

105 : 67,6=1,55
215:67,6=3,18
65 : 67,6=0,96
45 :67,6=0,66



leton Xaupa - Humenepa



leTon Xaupa - Humenepa

26 : 1,26=20,63
81 :2,81=28,82
58 :4,58=12,66

55 :1,55=35,48
18 : 3,18=5,66
96 : 0,96=100,0
66 : 0,66=100,0
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